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H,PO, -—“=5 A >B >C

Compound (C) is

(A) H,PO, (B) 11,PO, (C) (1PO,), (D) H,P,0,

An explosive compound (A) reacts with water to proc})ucc NH,OH and HOCI. Then, the compound (A ),
1S
is HUs+an,0 <> N4, Hoe
(A) TNG ‘ (B) NCI, (C) PCl4 (D) HNO,
T N ko brlg&ivming s . . .
An inorganic compound (A) made of two most occuring elements into the carth crust, having 4
polymeric tetrahedral network structure. With carbon, compound (A) produces a poisonous gas (B)

which is the most stable diatomic molecule. Compouﬁds (A) and (B) will be

(A) Si0,. CO, (B) Si0,, CO (C) SiC,CO (D) SiO,, N;

A sulphate of a metal (X) on heating evolves two gases (B) and (C) and an oxide (D). Gas (B) turns
K,Cr, 0, paper green while gas (C) forms a trimer in which there is no S

HCI, forms a Lewis acid (E) which exists as a dimer. Compounds (
respectively

=S bond. Compound (D) with
A), (B), (C), (D) and (E) are

Py F1oM0 — R0, +10 N,
(A) FeSO,, SO,, SO,, Fe,0,, FeCl,

|

(B) AL(SO,);, SO,, SO,, ALO,, FeCl, g
(C) FeS, SO,, SO, FeSO,, FeCl,

(D) FeS, SO,, SO, , Fe, (PO )3 FeCl, 1
{
A tetra-atomic molecule (A) on reaction with nitrogen(loxide, produces two substances (B) and (C).

(B) is a dehydrating agent in its monomeric form whilc substance (C) is a diatomic gas which shows
almost inert behaviour. The substances (A) and (B) and (C) respectively will be

.

1

NPy POGN, © B)P,NOGN, (OP,PO, A  (©)P,P0, I,

First compound of inert gases was prepared by scientist Neil Barthlete in 1962, This compound i

(A) XePtF, (B) XeO, (C) XcF,

(D) XcOF, i
Carbongene has X% of CO, and is used as an antidote for poisoning of Y . Then, X and Y

(A) X =95% and Y = lead poisoning
(B) X =5% and Y = CO poisoning

(C) X =30% and Y = CO, poisoning
(D) X =45% and Y = CO poisoning

The correct order of acidic strength of oxides of nitrogen is
(A) NO < NO, < N,O < N,0, <N,Oq (B) N,O < NO <N,0, <N,0, < N,O,
(C) NO < N,O < N,0, < N0, <N,0, (D) NO < N,Q < N,O; < N,O, < N.,O,







MNO:x +P,0,,—> HPO, + A ; the product A is

(A) N,0 (B) N,0, (C) NO, (D) N,0;
25.  Which of the following is the correct order of acidic strength?
(A)€1,0, > S0, >P,0,, (B) CO, > N,O, > SO,
) Na,0 > MgO > Al,O, (D) K,0 > Ca0O > MgO

Ca+Cp—> CaCy _ Ny , A CaNEN*C

Compound (A) is used as a/an

(A) fertilizer (B) dehydrating agent (C) oxidising agent (D) reducing agent
27" A gas which exists in three allotropic forms a, B and y is

(A) SO, (B) SO, (©) CO, (D) NH,

28.  Ared coloured mixed oxide (X) on treatment with conc. HNO, gives acompound (Y), (Y) with I1(

produces a chloride compound (Z) which can also be produced by treating (X) with cone. H(
Compounds (X) , (Y), and (Z) will be

(A) Mn,0,, MnO,, MnCl, (B) Pb;0,, PbO,, PbCl,
©) Fe,O,, F6203, FeCl, (D) Fe.0,; F6203, FeCl3
29.  One mole of calcium phosphide on reaction with excess of water gives b
ne  COsh -t EHaD > @alew), & photphine
(A) one mole of phosphine 3¢ - (B) two moles o phosphoric acid
(C) two moles of phosphine (D) one mole of phosphorus penta-oxide
30. NaH,PO, __>20c (NaPQ,), 6 NaPO,(liquid melt) —%-) D(glass)
Sodium trimetaphosphate Neye.,

Compound (D) is known as
(A) Microcosmic salt  (B) Graham’s salt (C)Reimann’s salt (D) Switzer's Salt

31. Three allotropes (A), (B) and (C) of phosphorous in the following change are respectively
473 K

>B
1200 atm
573 K 5
CO,—atm
(A) white, B-black, red (B) B-black, white, red

(C) red, B-black, white (D) red, violet, B-black
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